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Biomimetic Total Synthesis of (£)-and (+)-Garcibracteatone

Problem:
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1) Give the reagents for the synthesis of 2.
2) Give a mechanism for the transformation from 4 to 5.

LDA, prenyl bromide |/\Z)L
3

O]
EtO THF, -78°C to rt

3) Give the Products A and B, as well as the reaction conditions leading to
racemic 3.
4) How would you synthesize 3 enantioselective?
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Solution:
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The mechanism of 4 to 5 goes via a cascade of 7-endo-trig / 5-exo-trig / 5-
exo-trig and an intramolecular aromatic radical substitution.
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Molecule 3 is prepared via alkylation, reduction and Appel-reaction.
o]
LDA, prenyl bromide - o LiAH,, THF HO
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Et0” THF, -78°Ctort 0°C to rt: 95%
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DCM, rt, 86% '
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The enantioselektive synthesis of 3 is carried out with an Evans auxiliary:
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I, PhsP, imidazole,
DCM, rt, 86%
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